112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

3 NS: FENER 2 ERZ(GHO) 12 4 NS: PRIERZ FE1ESR(BAC) -5 14.68 : 5.32 Total VP: 125.23 Rank:
EW: & & BESFR(EAC) 5 EW: iti#E%4 HinsE(FR0) -1 IMP:| 15 2 1
I e -
#1 aT72 4SS5 450 Mean: 4SS5 450 3.0 1 #2 » K82 4HWS5 -450 Mean: 4HE4 420 1.0 1
v Q842 4S5S4 420 350 4SN5 450 3.0 1 v 95 5HWS5 -450 -450 5HWS5 450 0.0 1
+ AKQ6 Dif: 30 NS:3 4ss4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: 1 EW:-2 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5HS-1-50 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 200 Mean: 2HW-3 300 4.0 1
v T85 4SW4 -620 -290  5HS-1 50 6.0 1 v JT9 2HW-1100 160  2HW-2 200 1.0 4
¢ 32 Dif: 570 NS:6 5HXS-1 100 50 2 o+ AJ96 Dif: 100 NS:1  2HW-1 100 2.0 4
& KT542 IMP: 11 EW:8 3SW4 470 3.0 1 & JT3 IMP: 3 EW:2 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 3NN4 630 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE4 -630 Mean: 3NE-1 100 120 1
v KT2 3NN4 630 340  4SN5 650 7.0 1 v AJ3 3NE4 -630 -550 3NW4 630 20 2
¢ J3 Dif: 0 NS:7 4SN4 620 7.0 1 ¢ 9754 Dif: 0 NS:-2 3NE4 630 20 3
» KQ732 IMP: 0 EW:-7 3NN4 630 7.0 2 & Q432 IMP: 0 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1-100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2SW-1 50 Mean: 4HN5 450 6.0 1
v AT3 3SN-1-100 -130  3SN-1 4100 10 7 v AKJT97 2HN2 110 210  3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: -60 NS:-4 4HN4 420 50 1
& 92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: -2 EW:3 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

R2

#1: 3 FE(133.96) #2: 6 BE1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

3 NS: 5 B EIC) 7 1 NS: &R B (FH0) 9 8.73 11.27 | Total VP: 133.96 Rank:
EW: ;H}]I[Eﬂ?[[ %EP(B?JO) 9 EW: BREIE 3w iA(BAC) -7 IMP:| 10 1
o I
#9 'y 983 3HE3 140 Mean: 4HE-2 200 80 1 |[#10 » QT65 4HEG6 680 Mean: 5HE6 680 7.0 1
v 72 3CN3 -110 -130 3CN3 110 6.0 1 v K8 4HW6 680 -980  4HW7 710 7.0 1
* QJ72 Dif: 250 NS:6 3CS-1 -50 20 2 + 653 Dif: 0 NS:7 4HW6 680 7.0 2
& A763 IMP: 6 EW:0 4CS-2 4100 1.0 1 » K984 IMP: 0 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NE3 400 Mean: 3NE3 400 1.0 1 ||#12 o AT972 2HE2 110 Mean: 3NE-3 150 50 1
v T86 4SW4 420 -420  4SW4 420 00 7 v T984 4HW-1-50 -60  4HW-2 100 40 1
« J9632 Dif: -20 NS:0 3NW4 430 00 1 ¢ T54 Dif: 160 NS:3  3NE-2 100 40 2
& QJ98 IMP: -1 EW:-1 3NE4 430 00 1 & J IMP: 4 EW:2 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
¢ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 2HS-1100 Mean: 2HS3 140 60 2 ||# 14 4 J63 1SS3 -140 Mean: 2SS4 170 20 1
v AT42 3HS-1100 -100 2HS2 110 50 1 v A963 1NS1-90 100  1NS3 150 2.0 1
+ A62 Dif: 0 NS:0 3HS-1 4100 00 1 ¢ 9652 Dif: -50 NS:0 1SS3 140 10 1
» K32 IMP: 0 EW:0 3HN-1 100 00 1 » Q8 IMP: -2 EW:-1 1NN2 120 1.0 1
& AT82 N » Q63 2HS-1 100 00 1 ||a 754 4 Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 18s2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4HE-1 -50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 2HW2 110 Mean: 3DXS3 470 110 1
v 842 4SW4 420 110  4HE-1 50 40 2 v A932 3DXS-1100 -40  4HW-2 200 6.0 2
¢ 873 Dif: -470 NS:-7 3SW4 470 20 1 + J876 Dif: 10 NS:-2 2CE-1 100 40 1
& AK753 IMP: -10 EW:-4 5DS-4 400 70 1 &6 IMP: 0 EW:2 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 — v KT5 2HW2 410 20 1
* Q6 ¢ 54 . * K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
o eVABN 462 oo VAN 46532 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~




112 £ F > A EREHL 2RR2 =

=> R3

#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

3 NS: FENER #% 5#(BH0) 6 8 eI CORE 14.39 : 561 | Total VP:| 148.35 Rank:
EW: BESF B 2 EEHO) 13 EW: #Rt5R REH(BI0) -6 IMP:| 28 16 1
- S
# 17 » K96 3HW-1 50 Mean: 3HW-2 100 3.0 1 # 18 s T86 4SS-2 -200 Mean: 3SS3 140 6.0 2
v A97 3HE-2 100 10 3HE-2 100 3.0 1 v 94 3SS-1-100 -90 3881 -100 0.0 3
¢ AKJ75 Dif: -50 NsS:1 3Cs4 130 3.0 1 ¢ Q7643 Dif: -100 NS:-3 3CE4 -130 -1.0 1
& Q8 IMP: -2 EW:-3 2HE-2 100 3.0 1 & Q53 IMP: -3 EW:0 4SS-2 -200 3.0 2
s J3 & AT72 3HW-1 50 1.0 1 & A543 a2 3DN-2 -200 -3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 v QT862 I v J5 2NN-2 -200 3.0 1
+ Q6432 + 8 3DN-1 -50 20 1 ¢ A9 ¢ KT85
* K3 » A764 2HW2 410 30 3 ||a 097 » KJT842
&oVON 4 Q854 %oV AN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 #T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2~~ W 3~1~~
# 19 a AT54 3DS3 110 Mean: 5DXN5 550 11.0 1 # 20 a6 2SW4 -170 Mean: 3SW4 -170 6.0 3
v K87 3NN-2 -100 -20 3DN5 150 5.0 1 v AJ98 4SW4 -620 -390 2SW4 -170 6.0 2
+ KJ653 Dif: 210 NS:4 3DS3 110 4.0 1 ¢ AKT76 Dif: 450 NS:6 4SW4 -620 60 5
»5 IMP: 5 EW:2 3NN-2 -100 -2.0 2 & QJ5 IMP: 10 EW:6
» K9876 aJ2 3HE3 440 3.0 1 ||a AK8432 A QT9
v JT953 v A42 3NN-3 -150 -40 2 v K743 + v Q
. + QT92 3NS-4 200 50 2||e Q3 * Ja2
* KT7 & QJ92 a6 & A98732
&eVAN ,Q3 SOVAN oJ75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~ 4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 aKT4
W-~~2~-~ W 1~~42
# 21 4 AQ9 3HE-3 150 Mean: 5CN5 600 100 1 # 22 4 K8532 4SS-1 -50 Mean: 3NS6 490 30 1
v 743 2HE-3 150 170 3HE-4 200 1.0 2 v AT7 4SS5 450 390 4SS5 450 2.0 5
* 52 Dif: 0 NS:-1 4CN4 130 -1.0 3 * Dif: -500 NS:-10 4SN5 450 2.0 1
» AQJ97 IMP: 0 EW:1 3HE-3 150 1.0 1 & QT974 IMP: -11 EW:-2 4SS4 420 1.0 2
& K874 s J5 2SS3 140 -1.0 1 » AQ7 s 96 4SS-1 -50 -10.0 1
v T965 v AQJ82 2HE-3 15 1.0 1 ||v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100 -7.0 1 |]|e J532 + QT976
& K2 & T85 & J863 & K
*oVAN 4T632 SOVAN o JT4
N 45~42 vK N 5~~55 v K52
S 45~42 ¢AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W~~~ ~~
# 23 QJ 4SE4 -620 Mean: 4SE4 -620 1.0 3 # 24 » AKJ72 6CN6 920 Mean: 6CN6 920 8.0 4
v KJ652 4SE5 -650 -640 4SE5 -650 0.0 5 v 2 1SN5 200 590 5CN6 420 50 4
+ Q9 Dif: 30 NS:1 4SE6 -680 1.0 2 ¢+ 8 Dif: 720 NS:8 3NS3 400 5.0 1
& AQJ9 IMP: 1 EW:0 & AKQT73 IMP: 12 EW:9 1SN5 200 9.0 1
s 82 & AKT9754 & Q86 A 954
v QT983 + v A4 v KQ65 v AT43
+ AK73 oT + KQ974 * T52
+ K8 S & T65 a4 » 982
&eVAN 63 SeVAN o T3
N11~~~ w7 N 6~~64 vJ987
S 11~~~ ¢J86542 S 6~~64 ¢AJ63
E ~~253 47432 E ~1~~~ &J65
W-~~255 W ~1~~~




112 £ F > A EREHL 2RR2 =

=> R4

#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 T=A@(151.37)

NS: I#57 BREERGA0) 9 NS: S20A38 3R1EAA(AC) 1] 16.23 : 3.77 | Total VP:| 164.58 Rank
EW: #{— & BESFE(EAC) 13 EW: EII7R EBE(BAO) -9) IMP:} 19 : 0
o A -
a5 4SE-1 50 4SE-1 50 5.0 # 2 s T7 1NE-3 150 Mean: 1NE-3 150 40 2
v A9 4SE-1 50 5DXS-2 -300 -5.0 v KJ873 1NE-3150 10  1NE-2 100 3.0 1
» AK97 Dif: 0 5DXS-3 -500 -9.0 + QT9 Dif: 0 NS:4 3SwW-1 50 1.0 3
& A98643 IMP: 0 & AT9 IMP: 0 EW:-4 1NE-1 50 10 1
Y » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v v K3 v AT I v 92 3SE3 140 40 2
3 ¢ JT53 J5 + AK862
& a»T7 » 87654 » KQ
V&N 4,763 ¢V AN 4 AQ4
N 1~ ~ ¢ T8642 N ~~1~1 v Q654
S 1~ ~ ¢ Q862 S ~~1~1 ¢743
E ~32 a5 E 12~3~ &J32
w ~32 W 12~3~
s KJ 4HS6 480 6HS6 980 8.0 # 4 » K54 4SE5 -650 Mean: 4SE-1 100 120 1
v 8754 4HS6 480 4HS6 480  -4.0 v A82 4SW5 -650 -560  4SW4 620 20 1
¢ T62 Dif: 0 ¢ 765 Dif: 0 NS:-3 4SE4 620 20 1
& AJ65 IMP: 0 & JT53 IMP: 0 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 _I_ v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
s Q2 2SW-2 100 3NS3 600 120 1 ||#6 s J5 4CN-1 -50 Mean: 4SW-1 100 40 1
v 983 3NN-3 -300 4CN4 130 50 1 v JT 3SW3-140 -40 3CS3 110 40 1
+ KJ3 Dif: 400 2SW-2 100 50 1 + Q854 Dif: 90 NS:0 1NN1 90 40 1
& AJ963 IMP: 9 3NN-2 200 -40 5 & KQJ97 IMP: 3 EW:3 4CN-1 50 00 1
& KJ976 3NN-3 300 -6.0 2 ||a Q9643 » AT82 3Cs-1 50 0.0 1
v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ 75 ¢ A73 + J96 3sw3 140 -30 4
» Q2 a6 & 8542
SN ,T83 o ¢VABN 4 K7
~ 1 « AKQ6 N 311~~ » Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 3HE-1 100 4HXE-2 500 10.0 1 [|# 8 » QJT965 3NS5 460 Mean: 4SN5 450 0.0
v Q98 1NS-2 -200 1NXS1 180 4.0 1 v AKT2 3NS5460 450 3NS5 460 0.0
¢ J93 Dif: 300 2 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: 7 EW:6 3HW-1 100 20 1 & K54 IMP: 0 EW:0
» AQ62 3HE-1 100 2.0 1 ||as K87 a A43
+ v T752 2NE2 120 40 1 ||e 543 v J97
+ AQ8 2HW2 110  -40 1 ||e 8742 + AQT3
S s T5 2HE2 410 -40 1 ||a 972 » JT8
VAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
~ ~~ 9AK 1NS-2 200 -60 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 S 5~554 ¢ KJ6S
2 22 &AK73 E ~~~~~ & AQ63
222 W ~~~~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

3 NS: FENER 12 ERZ(BH0) 4 7 NS: R15g8 EiA(BAC) 2 10.44 : 9.56 Total VP: 175.02 Rank:
EW: 1505 BEEEAC) -2 EW: =55 BEHE(BAO) -4 IMP:| 32 31 2
I . — —
#9 aT3 3CW-1100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 4SE4 -620 Mean: 2HS2 110 80 2
v QT542 3NE3 -600 -110  3CW-1 100 50 3 v 983 2SE4 -170 -230  3HS-1 100 4.0 1
732 Dif: 700 NS:5 3SS-2 4100 00 1 ¢ T8643 Dif: -450 NS:-9 3SE4 470 20 2
» 632 IMP: 12 EW:10 3CW3 110 00 2 » KQ5 IMP: -10 EW:-2 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 a» AJT2
% ¢ VAN 4 AQJ762 *oVAN 4 A3
N ~~~~~ v A8 N ~~2~~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
5CS-1-50 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 6CE-150 Mean: 6CE-1 50 100 1
5CS5400 200 3NN4 430 60 3 v 85 3NW4 -430 -440 5CW5 400 1.0 1
Dif: -450 NS:-6 5CS5 400 50 2 + QT8 Dif: 480 NS:10 3NW4 430 0.0 1
IMP: -10 EW:-5 5CS-1 50 6.0 1 & A96 IMP: 10 EW:0 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
a A3 » Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 2HE3 -140 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 4HW-1 50 Mean: 5HXW-2 300 30 3
v Q2 3NE3 -600 -530 2NE4 180 80 1 v?9 5HXW-2 300 210  5HXE-2 300 3.0 4
¢ T987 Dif: 460 NS:9 3NE3 600 -20 1 ¢ JT953 Dif: -250 NS:-4 4HW-1 50 -40 2
» AJ6 IMP: 10 EW:2 3NW4 630 -3.0 1 » T632 IMP: -6 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 4SXW5 -690 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 420 Mean: 4SN4 420 40 7
v KJT876 5DN-5-500 -490 5HS-2 200 7.0 2 v 62 4SN4 420 270  5SN-1 50 8.0 1
¢ T32 Dif: -190 NS:-5 4SW5 450 1.0 2 *2 Dif: 0 NS:4 4SN-1 50 8.0 1
& 7654 IMP: -5 EW:0 5DN-5 500 0.0 1 & KT832 IMP: 0 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 —_ v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

3 NS: FENER 12 ERZ(GHO) -14 6 NS: BREEZE 2 (BAC) -2 6.88 13.12| Total VP: 181.90 Rank:
EW: #{— & BESFR(EAC) 2 EW: ZhiEi8 FE1E(BAO) 14 IMP:| 15 23 2
I
# 17 a A52 3NN3 400 Mean: 3NN5 460 7.0 1 |[#18 a9 4SW-150 Mean: 5DS5 600 10.0 1
v K5 3NN-1-50 160  3NN3 400 6.0 4 v AT853 5SXE-2300 140 5SXW-2 300 4.0 2
«» K872 Dif: 450 NS:6 3NN-1 50 50 2 ¢ 32 Dif: -250 NS:-3 5SXE-2 300 40 1
& AKQ6 IMP: 10 EW:5 3NN-2 100 -6.0 2 & KQ432 IMP: -6 EW:-4 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ » T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 2SN4 170 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 620 Mean: 4HS4 620 0.0 1
v AJ 4SN4 420 260  3SN4 170 3.0 3 v 87542 4HN4 620 620  4HN4 620 0.0 9
¢ 543 Dif: -250 NS:-3 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: -6 EW:-4 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NN-1-100 Mean: 3NS5 660 100 2 ||# 22 » J83 2SW2 -110 Mean: 3HN3 140 50 1
v Q7 1NS5210 170  1NS5 210 1.0 2 v AJ7653 5HXN-2 -300 -50  4SW-1 100 40 3
+ KT53 Dif: -310 NsS:-7 3Cs4 130 1.0 1 *3 Dif: 190 NS:-2 3SW-1 100 40 2
» KT83 IMP: -7 EW:-1  1NN2 120 20 1 » J85 IMP: 5 EW:6 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4SXW-2 300 Mean: 4HS6 480 4.0 2
v QJ62 4SS-1-100 © 5HE-2 200 50 1 v T95 3NS5460 350 3NS5 460 3.0 1
*4 Dif: 0 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: -160 NS:-2 4HS4 420 20 3
& 9862 IMP: 0 EW:3 4SS-1 4100 -30 6 & J4 IMP: -4 EW:-3 4SXW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

3 NS: 5 B (3H0) -33 10 NS: 2B SHHE(BAC) 14 0.50 19.50 | Total VP: 182.40 Rank:
EW: #{—E BESFEEAC) -14 EW: E3Z5E 5REH(BAO) 33 IMP:| 7 : 45 3
I Y ————— YTy T
#1 & AT62 4CN4 130 Mean: 6CN7 940 120 1 |[# 2 » KQ932 5HXWS5 -650 Mean: 5HWS5 450 3.0 3
v 3NN4 430 270 4SN5 450 50 1 v A84 4SXN-2 -500 -540 5HES 450 3.0 1
+ KQ96 Dif: -300 NS:-4 5CN6 420 40 1 ¢ 8753 Dif: -150 NS:-3 4HW5 450 3.0 2
& AQ832 IMP: -7 EW:-4 5CN5 400 40 2 &3 IMP: -4 EW:-1 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3NW3 -600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 5HS-1-100 Mean: 4HS4 620 3.0 8
v 52 3DN-3 -150 -420 2DN-1 50 9.0 1 v A864 4HS4 620 500 2HS4 170 8.0 1
+ KT9764 Dif: -450 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: -720 NS:-12 5HS-1 100 120 1
IMP: -10 EW:-7 3SXN-3 500 -20 1 & AQ6 IMP: -12 EW:-3
6 4HW4 620 -50 1 ||as AKJ4 & QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
4 & 52 & 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 -430 Mean: 1NW4 180 50 1 #6 s J 4DN5 150 Mean: 5DXN5 550 60 3
v 87642 1NW4 -180 -360 1NW5 210 40 2 v A754 5DN5 400 290 5DN5 400 3.0 2
¢ T95 Dif: -250 NS:-2 3NW3 400 1.0 1 + KQ954 Dif: -250 NS:-4 4DN5 150 4.0 2
» Q97 IMP: -6 EW:-5 3NW4 430 20 3 & A43 IMP: -6 EW:-3 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N 55~~~
S ~~~~~ * K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2NN2 120 Mean: 3HW-2 200 30 3||#8 » Q72 3NN-1-50 Mean: 3DN3 10 20 1
v A985 4SN-1-100 110  3SS4 170 2.0 1 v 9853 1NW1-90 40  2SS2 110 20 1
¢ 874 Dif: 220 NsS:0 2SS3 140 1.0 1 + KQ62 Dif: 40 NS:-3 2DS3 10 20 1
& AKT7 IMP: 6 EW:5 2SN3 140 1.0 2 & K9 IMP: 1 EW:4 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 » QJ92 » Q7654 » T832 3NS-2 100 40 1
o O¢VAN o AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112# £ F > A EHEHL 2RR2 =

=> R8

R (187.04)

#1: 5 HKIGEIE(212.79) #2: 6 B3E(187.37) #3: 8 EHERES

3 NS: FENER 12 ERZ(GHO) -12 5 NS: 15ARAE BRIZEN(BAC) 22 VP:| 1.79 18.21| Total VP: 184.19 Rank
EW: 1805 BREsEEAC) -22 EW: E€# H 2% (BA0) 12 IMP:| 13 42 5
I
#9 aJ 4HS-2 -100 Mean: 4HN5 450 100 1 [[# 10 s KJ5 2SW2 -110 Mean: 2SW-1 100 20 2
v Q9642 3HS4170 o 3HS4 170 50 1 v QJ8 2SW-1100 40  2CW-1 100 20 2
+ 8642 Dif: -270 NS:-3  4HN-1 50 20 2 ¢ J92 Dif: 210 NS:-4 1NN2 120 20 3
» J82 IMP: -7 EW:-5 3HS-1 50 20 1 » 9654 IMP: -5 EW:-2 2SW2 110 40 3
» 8753 » T642 4HS-2 100 -30 5 ||s AT973 s 42
v JT3 v 75 v 632 _I_ v K74
5 — ¢ AJ93 o7 ¢ AT865
+ KQT64 & A73 & AKQT & J32
o4 VABN 4 AKQ9 o ¢VABN 4, Q86
N ~32~1 vAK8 N ~1~~1 v AT9
S ~32~1 ¢KQT?7 S ~1~~1 ¢ KQ43
E ~~n~~~ * 95 E1~~2~ 87
W~~~-~-~ W 1~~2-~
3NW5 -460 Mean: 3NW4 430 1.0 2 ||#12 s K 3NN4 630 Mean: 3NS5 660 1.0 1
3NW6 -490 -460 3NE4 430 1.0 1 v AQT6 3NN5660 640  3NN5 660 1.0 5
Dif: 30 NS:0 3NW5 460 0.0 2 ¢ KJT65 Dif: -30 NS:0 3NN4 630 0.0 4
IMP: 1 EW:1 3NE5 460 0.0 1 & Q82 IMP: -1 EW:-1
» AK85 3NW6 490 1.0 3 » Q852
w7 3NE6 490 1.0 1 I v 87
¢ QJT52 * AQ7
& AJ9 & 9763
& AJ974
v 93
¢ 92
& AKJ4
#13 & AJT97 4HW-1 100 Mean: 4SN4 620 11.0 1 # 14 4 AKQ96 6DS6 920 Mean: 6DS6 920 60 6
v 63 4HE-2200 100  4HW-2 200 30 1 vdJ 3SN5200 690 5DS6 420 7.0 3
* AT Dif: -100 NS:0 4HE-2 200 30 1 ¢ JT86 Dif: 720 NS:6  3SN5 200 -10.0 1
» Q864 IMP: -3 EW:-3 3SN4 170 2.0 1 » A87 IMP: 12 EW:10
s 85 N s Q3 3SN3 140 1.0 1 ||s T875 a J32
v AKQ42 v 9875 4HW-1 100 00 1 v AQ5 v T8763
* KJ92 + ¢+ 8543 4SN-1 100 50 3 ||e 74 *Q
& 52 & AJ7 3SN-1 100 -50 1 » Q932 & KJT6
o4V AN 4 K642 o OVABN 4
N 3~~3~ oJT N ~6~~4 vy K942
S 3~~3~ 4Q76 S ~6 ~~4 ¢ AK9532
E ~22~~ 4KT93 E ~~~~~ *» 54
W~22~-~ W ~~~~~
# 15 & 97532 4SN4 620 Mean: 6DS7 1390 100 3 ||# 16 s A9 4SE4 -620 Mean: 5CW-2 200 120 1
vA 6DS7 1390 940  6CS7 1390 10.0 1 v AJ65 5CW-2 200 -530 4Sw4 620 -3.0 2
+ K5 Dif: -770 NS:-8 3NS7 720 60 1 ¢ 964 Dif: -820 NS:-3 4SE4 620 -3.0 7
& AT643 IMP: -13 EW:-10 3NN7 720 60 2 & Q974 IMP: -13 EW:-12
» QJ86 » K4 5DS7 640 7.0 1 ||a K52 a QJT43
v KT64 v QJ9852 4SN4 620 -8.0 1 ||w 9873 —_— v K
¢ T42 ¢ 93 4HXE-3 500 -10.0 1 ¢ QT ¢ AK85
& J5 » 872 » AK63 » T85
VAN ,AT oo VAN 4876
N 77~57 73 N ~~n~~~ v QT42
S 77 ~57 ¢ AQJ876 S ~~1~~ ¢J732
E ~~~~~ & KQ9 E 2~~42 aJ2
W ~~~~~ W 3 ~~52




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

3 NS: FENER 5% 2 REAC) -4 2 NS: BRE<F MiEF(FR0) -3 VP:| 9.14 10.86 | Total VP: 193.33 Rank:
EW: #{— & BESFR(BHO) 3 EW: B 2IzEPRAC) 4 IMP:| 16 18 4
# 17 # J6543 3NS-3150 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN3 -140 Mean: 3CW-3 150 2.0 1
74 3DN4 -130 90  3CXE-2 300 50 1 v AJ97 2SN3 -140 100  2SN3 140 1.0 4
+ KQ854 Dif: 280 NS:1  3DN4 130 1.0 1 + A Dif: 0 NS:1  1SN3 140 10 1
»4 IMP: 7 EW:6 2SS2 110 1.0 2 » 982 IMP: 0 EW:-1 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1-100 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW-1-100 Mean: 3NW-2 200 9.0 1
v J732 4DXN-1100 100  3DXN3 470 9.0 1 v Q42 2HE2 110 -200  3NE-2 200 9.0 1
+ KQ2 Dif: -200 NS:-5 4HE-1 100 00 2 + KJ952 Dif: -210 NS:3  3NW-1 100 7.0 1
& 53 IMP: -5 EW:0 3DS3 110 0.0 1 & 82 IMP: -5 EW:-7 2DW-1 100 70 1
o AT9832 a7 4DS-1 50  -40 2 ||s 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW4 430 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE4 180 Mean: 3NE-2 200 60 2
v 653 3NW4 430 -370 5DE5 400 1.0 4 v QT652 3NE-2-200 -20  1NE-1 100 30 1
3 Dif: 0 NS:-2 3NW3 400 1.0 1 ¢ 63 Dif: 380 NS:6 1NE1 90 20 4
& QJT873 IMP: 0 EW:2 3NW4 430 20 3 & A85 IMP: 9 EW:4 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~~~~ ¢ KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 600 Mean: 3NW3 600 00 7 ||#24 s T972 4HN5 -450 Mean: 5HXS5 650 6.0 1
v A763 3NW4 630 -610 3NW4 630 -1.0 2 v K983 3SW-3-150 420 5HN5 450 1.0 1
¢ AT2 Dif: -30 NS:-1  3NE5 660 -20 1 . Dif: -300 NS:-7 4HS5 450 1.0 2
& 42 IMP: -1 EW:0 & AQJT5 IMP: -7 EW:-1 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 *e¢VAN 463
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~




